Pappel 3mm

= [ - w
Bp—_———— D 5 E
85 |—w ——— —— & — | BE ]
mm T ——— o mm © O %
mw /@ D emmomi o £ Bumjueideg ssieg wig'| w
-l I e O T e T B
1 T : : = = = 1_“_. _:¢
== .l | A
AT Wug e e
/8 Jepuigien = <
5 2
U SN Usiun sdde .m. 8 b
E g / :
& : \
ﬂ \
: IS =N 4 ag® N
@ ! - E
= T A A I IR I
23 Y,
r;l|[|.|]|onaw2$+|]|1 r[Hﬁl[ﬂ - o'@) E =
e 2 e S 0 O 0 2 e
o o B s s P )21 Qo
|eBnid seddepy . 1 186014 uswyeiuedder ——— & 0 E -

Sperrholz 2mm

Comae 2 Jol————glss do———55E 5 L T oEame 2 el sy, Jel——g Ty L% p. o>
E D800 ﬁl é E G800 j = =
o€o o Y X
o = = 5eo
[owe > —owse _ O [(o®° > rowas S ——T T O
(6% > [oame > G20 5 ~S 0% [me —ompr— <3010 5 e %® >

1 1 Balsa 2mm

= =Y = = o
[o8e° 2[00 = gé% Oaroougg
= o o
oolg °

2 Belsa 2mm

ygy © o) &¥ _°
(00 w2w o 2 f -
E %@ () s

2y, Balsa 2mm




g E
[ ) uoydwiny sssyzms
) I,
ﬁp_m
=, [FEOTEDEIB g
vz D.._m.. PE= ¢ —— m
, | &
i |




